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0=F —mgsinf
F =mgsinf
mRw? = N — mgcosf
N = mRw? + mgcosh

F 3R W 2,

mgsin 0

[IA

mRw? + mgcost K

(c) (b) £V, tana == = u(=tanfy) Db &,

gsinf — pgcosf = g\/1+ p2sin(f — a) < pRw?
INDH LW D O THD LDOEM,
gV/1+p? < pRw?

(a) DR E Y p 2L LT,
g
Rsin 6y

S
1\

(d) (b) DEEFHT O =0, THEEWZ,

gsinfy B
Rw? 4 gcosf; "

w= \/% A, BEHLT,

V14 p?sin(0; —a) =p cooosin(f) —a) = \/%—/ﬂ = sin

::"60290 Vg)'A;_,
01 = a+ 0y =20y
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(e) IHHFTITMES v = Rw THIFELTWw5 & &,

1 1
T = §mv2 = §mR2w2

e

T—E. F72, 0 THVIILD, O FTEATEHEE, ZAVF R LD (FLHEIIMR
DHLLY),

T — mgRcosf =0 —mgR cos s 5. T =mgR(cosf — cos )

FERABTREZIICD, MERONRE OMMEED 0 & oo/l X9 Hi b EENMEH L
NiE v = Rw OFRTEB 21505 DT, 77 73U TOLH 12425,

(1) T (2) T
mgR(1 — cosfy) | mgR(1 — cos )
~ ~N
/ \
— mmE S — mmaS
—05—04 01 0 —05—04 01 0
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(1) ZANVF—DBRAFELD,

ve = +/2gasina

m 2 .
EUC = mgasim o

(2) WA MRS Z &% C Al LB NRAZ T RIS E N LT 2L, M

C ToEFHFRER ORI,

ve” vc®
m—— =mg — N¢ . Ne=m|g——
a a

CHTHEEMLZZEFZERDLEEN>0%DT, CHTHANLHNTLE) ZOD%E
HIEALE N S0 ELTHRLRN,

g— <0 ve 2 /ga
a
Zhe (1) &y
™ ™
2gasina > -
gasinx Z ga 6704<2

CHTHNTI»LEMT 52X TORMEZ ¢ £ 92&, SETHOEHIIONT,

1, 2a
—gt° =a Coo b=y —
g

2
Py,
2a
afgzw/ga-@/zzﬁa

(3) KFAHME, i hM& 2 ZhEThiEET5L, F HOE “O—C>0)['D"J%
AIC BT %)=,
P = (my/ga. —mgt) ~ A
|
= (my/ga, —m~/2ga) | my/2ga
|
B EZLE DREOBBRE D, ANERAZT 72 0F 1, - _f
=0-7

(—=my/ga, + m+/2ga)

INEPIRT B L ERO X )%, 72, AP A TS o TWZ2IJFHZ AN F—
(&, EHROBIRR/NEROBUN T DI, RIS ER I N



(4) FEHIA0 L %2 HE TOREE vg &35 L, NROEETTFEX DL,

2

mE — mg cos 3 . vg = +/gacos(
a
7, TAVF-—ORFLD,
%v]f + mga cos 3 = %vcz + mga

IhH &) vg ZIHEL TR &,

ve? = ga(3cos 3 — 2)

CZl#ysLZvc?>0THY, EHIZZI TR <,/ga%BDT,

2
0 < ga(3cosf —2) <ga §<cosﬁ<1

(=
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